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 B. A. (Part III) EXAMINATION, 2020 

GEOGRAPHY 

Paper First 

(Resources and Environment) 

Time : Three Hours ]  [ Maximum Marks : 50 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 
vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 
Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 
(UNIT—1) 

1- ßlalk/ku gksrs ugha] curs gSaAÞ bl dFku dh foospuk dhft,A 

“Resources are not, they become.” Discuss this statement. 

vFkok 
(Or) 

uO;dj.kh;rk ds vk/kkj ij lalk/kuksa dk oxhZdj.k dhft,A 
Classify the resources on the basis of renewalability. 

bdkbZ&2 
(UNIT—2) 

2- ty lalk/ku laj{k.k ij ,d fucU/k fyf[k,A 
Write an essay on Conservation of Water Resources. 
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vFkok 

(Or) 

ÅtkZ ds vijEijkxr lzksrksa dk o.kZu dhft,A 

Describe the non-conventional sources of energy. 

bdkbZ&3 

(UNIT—3) 

3- ß,f’k;k esa ,sls cgqr ls LFkku gSa] tgk¡ FkksM+s vkneh jgrs gSa vkSj ,sls 

de LFkku gSa] tgk¡ cgqr ls vkneh jgrs gSaAÞ bl dFku dh O;k[;k 

dhft,A 

“Asia has many places, where people are few and few 

places, where people are many.” Elucidate this statement. 

vFkok 

(Or) 

fo’o esa c<+rh gqbZ tula[;k leL;k ij ,d fucU/k fyf[k,A 

Write an essay on the problem of increasing population of 

the world. 

bdkbZ&4 

(UNIT—4) 

4- ßeuq”; Hkwry dh mit gSAÞ bl dFku dh foospuk dhft,A 

“Human being is a product of earth.” Explain this statement. 

vFkok 

(Or) 

i;kZoj.k dk vFkZ Li”V dhft, ,oa mlds izdkj crkb,A 

Clarify the meaning of environment and describe its types. 
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bdkbZ&5 

(UNIT—5) 

5- ou&fouk’k ds dkj.k rFkk izHkkoksa dk o.kZu dhft,A 

Describe the causes and effect of deforestation. 

vFkok 

(Or) 

fuEukafdr ij fVIif.k;k¡ fyf[k, % 

¼v½ fVdkÅ fodkl 

¼c½ tSofofo/krk dh {kfr ds dkj.k 

Write notes on the following : 

(a) Sustainable development 

(b) Causes for the loss of biodiversity 
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